Mathll Retale
Chapter 4 Review

1. What is the vertex of f{ix) = 2{x - 3)2 - 67
Vi (3,-0)

2. What are the x-intercepts of f{x) = 2(x - 1)(x + 3)?

X-t;r\’(crccpjlﬁ \ %—3

3. Given f(x) = ax® + bx + ¢, what does the x = -b/2a
represent? Could it be more than one thing?
& Bl
0% 41 .Dlj 2 n":,( {"rJ
A-value of vectex

4. Factor the following equations completely.

a. x2-7x+10 (X-5)Yx-2)

b. 12x2+19x- 18 (3%-2)('“*9)

c. x2-11x+30 (K—b)(K'S)
dm-64 (Nt8Y n-8)

e. 2x2+7x-15 (2)(*3)()(.{.5)

f. 62+23t+20

(2t ru)2t+s)

5.. Solve the following equations.

a X+12%-45=0 (Xt15)X"3)=0
X=-19 X=3

b. 9x2+6x+1=0 |
(zx+)(zx+1) =0 X° /3

c. x2-3x-40=0

X=8,-5

(x-8)Xx+5)=0
d 12-13r+42=0
(r-eYXe-1)=0 r=206,7

e 2w+ 13w-7=0
(2w -ﬂ(wr}):o
f 10y2+11y-6=0
(2yr2z)sy-2)=0
\_j:'"a/z _}7—-/5

W= Yo T

Name Wevy
7

Date

V%02 = 30V3

365
8. Solve 2(m - 7)2=16
z w2
(-1 =2
((m-T= {8
A A RV
R R J’é
9. Solve (x +2)2-12=136
1 4
(x+20* z 43

A+2 = tﬁ?

le 2

Atz =ta /3

10. Solve 3(x -2)2+40=0
~4o -40

11. Solve2(x-3)2+64=0
_bLi -(a\.‘

2 =H* 2= 4
= z

(%-3¥7-32
X732t
l::-‘(
12. Multiply (3 - )(-2 + 4i)
St 1242 - Hi
b + 4y + Yy
-2+ Y
13. Find the quotient.
a(2+i)(3-41)
(3+4i)2-u1)
L-8i+3{ iz

qQ -tz) *f2i =l

'a'ﬁi'“-\m =
Q4+
VO~ = &0
5 ""‘%

6. What is the simplified form of the expression

bl3+i Y2+3\)
(2-30)2+3)

Period

1800 7

7. What is the simplified form of the expression +/24 *+/30 ?
P
2@ V3o = 2Vigo = 1205wl

M =7%z2y3

r=-2FT 43 |
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X=334,J7

b+ai +2{ +32 _
Ytlol =kt -Q1™
bt -3 _
bW+ 1
32+
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14, Write the equation y = 2x? + 12x + 5 in vertex forn.

max-hp+k X=-b =-12 - -3
yage-1) 20 202}

Y=z 203 M2 (45
Y= -13 NG R a2
Y= 2 (x+3) -13
15. Write the quadratic function that has a vertex at
(2, 7) and passes through (4, 2).
= aly-2y 4 - b
J Y4="3 -2)"+7
2= a (u-D47
"5 =Yoo
a=-5 ,fu.f
16. Write the quadratic function that has a vertex at
(-3. -2) and passes through (1, -10)

%:QLX+331*Z B:_é(x-\—gb?_ 2
-0 = a(\+Y -2

"Bz llbeo
o="Yq
17. Write the equation of a parabola that has x-intercepts
of -3 and 2 and passes through the point (3, 12)

lﬂr-qug\)[xwz) B:Z(K‘raxx_?)

2= o (243N 3-2)

2= leca
D27
18. Write the equation of a parabola that has x-intercepts
of -7 and -3 and passes through the point (-1, 12)

Y=o Cx )N xv2) 3—,=(x+ﬂ(x+5)

2= a € =)\ £\ *3>

|3 = Tla
a = |
19. Use the discriminant to describe the types of
solutions for the equation 2x2- 7x + 9 = -dx + 1,
b*-Uac tHx Tl 4y -

2 2

-3V -4 (X )= 2X-2X+8:0
A-bY4= -5

5
S negodue & Zimaginary
' N per g
20. Solve: 5x2+11=14

o L

5x°=3

5 5

co+ 3 AR (B _

= 9

E )

X = :I:_\)E-
5

-~

2] y=2x2+12x+ 15

=-12 2 -2 --%

o e T e

Y= 2(_:5')"4,12_(—3\)3(\5] =-3

Graph the following quadratics: (show work)

a) Graph

b} vertex: (-3,-3)

c) axis of symmetry: x = "3

d) x-intercept: X = -l2% MY -Y () 12)

P Xz -l if'ﬁ.‘* _ —_,_2(2—)
4 =
e) y-intercept: ‘21 2\G, R
W=l 4 >

) domain: All realp

g) range: (j_?_- 3

h}) increasing and decreasing G (5 =i 3)

22, y=-(x

+3)+5

r'S

. ) end behavior decvease
S ) Yoo (-3,0°)
X¥e0 Y= oo intrease
a) Graph

b} vertex: {3, 5)

c) axis of symmetry: x= - 3

W 2 "
d) x-intercept: 0= -(x+3)°+5

5= -(xx )

Bz yx3)t
e) y-intercept: g = K 2 .
- Y=- % =- 255

f) domain: AW\ real\S

g) range: Y < 5

h) increasing and decreasing (-2 )

i) end behavior ;\V\UEQS€
X—‘-?—w\:\:g-oﬂ {—‘5,{3@3
X2 00 yy-00 de crense
23 y=2x+4)x-2)
%: 2 (-3 L)=\ ?,) a) Graph
T -Lf‘f::\% 1 b) vertex: (., ) (—"l'lg)

Tl T i 1%

c) axis of symmetry: x= — |

d) x-intercept:

i "L‘} 3 z
e} y-intercept: Y=z (o+Wy(p -2)
e Y = 204%-2)
"t O : _ Y=-\,
ot ! 5 l = i f) domain: veals
il” CEETTTETTT g range: Yz -8
T B R h) increasing and decreasing (_m -1
& il | { -
: R EIERRIN N E i) end behavior e et st
= e -1 ,92)
. i inurense
X Q0 Y » 02
o
{1 ,-16)
2




26. Solve for x three times: by factoring, by completing the square and by the quadratic formula

-12x+35=90

Factoring
X“-12%x+43520

(X=Tx-5)=0
K1=0 R=E5p
=1 X=5

completing the square
2, = -
X =i2% +25=p

X*oyaxe 36 - ~36 + 3b
(&F .3,
(%= )rlo) = |
(X-) = |
X-lo =41
-zt |
X= (1|
A= ot | =71
b- | =5

quadratic formula
IX*-12X +25=0
A A 1
o b c

X =127t WHC\I&S)
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27. Solve for x three times: by factoring, by completing the square, and by the quadratic formula

432 -3x-10=0

Factoring
Hx% 2x 10 = O

(4x + 5Y\X = 2 )= o

Uxts=0 ’io
L te
L\X =-5 g
Y & h el

sj’z q
o2 (:':i

Y

completing the square
L‘XZ’.JX'WD =0
4% -2x = 10

4O 3k + Yy = 104 Mo

N (x-30gY = 10%e

%(K—EKQ-Y: il

e
(x-3/g) = &9
Y
X3 =4 Mot
A
X= 2/gt ’3/3

quadratic formula

§ X% ax-m=0

X= 3*J£ﬁquXﬂD

2(4)
X= 32 Jieg
o)
X= 3t 13
D
X = 51’“__1153 :J__%,_:Z
3 8
X= 3213 =-10 = =5
& ] tf

it




